1.3/1.4 Solving Quadratic Equations by Factoring
Square Root Review

Recall that Quadratic Equatiolns Come in 3 Forms...
- Standard Form:_@X DX+ C =(
- Vertex Form:__a.(x-h +t¥% = O
- Intercept Form: a(x—@(x‘ﬂlo

4 Methods of Solving Quadratic Equations CA )gpm{.cauﬂ)
1. _]ECLO*D(‘ n9g

> &U&A%C %rﬁd&g
3. Completimthe Square.
4 _SQLare ropt
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Solving By Factoring S £ 7

*Use solving by factoring when given a factorable standard

form equation.
Use the

ex: Solve. (Find the roots of the equation.) Zero product

property
a) x’-x-30=

(v —o)(x+ )"0




b) 2x* +34x=0

y:_pl [’T
Q) x’ =64
- 4= O

(4 (-2 = O
X=-88>




d)4x’ +4x+1=

[gz;<+ () [&X'l' O O

~ —_( “— mv“l‘lpll(}l‘h‘[ U’S‘ >
X~ = Ny b of 2

&) 4x* —17x-15=0
(¢x+ ) (x—5)= O
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N 7x*-42=-35x

7()(+ L)X {} = O
x=1,"6
g)x(x—4)=4
Y=yYx-4H4=0O
Cannot be factered
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Real Zeros

ex: Find the real zeros of the function. Find +he

Y- IHeepts -
2 f(x)=14x>-21x (set #63=0)
O) =145 21K
= Tx (813
(L5 2 S
b) y=16x"-2x-5 (q% = SJ(CI[X = 3/’/_-%{

A=




ex: Write a quadratic function in standard form with integral
coefficents given the zeros.

Do&ED  FO)= (X-9)(x+3)
£0)= X~ px -3

b) x=0.5 multiplicity of 2

=t (ax =)= £(x)

Uy™=dx + 1 =F00



Perfect Squares




Square Root Review rad iCﬁ /
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Square Root Properties ’\/%7571‘]: 3+5
« Multiplication: \/E=\)’C,1'J'b_ V3Y F g

« Division: %= -Y—/\(bE— /

/
*There are NO sum (\/aq + b ) or difference (\/Ja-b)

properties!!!




Simplifying_Radicals
\/,_.

*A radical is fully simplified when...

the radicand has NO perfect square factors other than 1
there is NO radical in the denominator

the radicand does NOT involve decimals

the radicand is positive



ex: Simplify.

a) J12
W.ﬁ‘
23

b) /27
Ve V2
IV
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Review
|
ex: Sketch.

a) y= 3x* -6x

>/: BX[X‘"%

by y=-2(x+3) -4 )
(-3,-Y) ﬂ
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